
Tension Springs 
3.000 x 2.250mm and a door weight of 75kg.

 

Manual RSC-T

RSC-T

www.flexiforce.com



Tension spring door
  RSC-T
 

Installation manual

01 145 991 rev.30-03-2015 1

1062BF

9 Nm

M6 x 16

1070BF

23 Nm

M8 x 18
1068M

M8

1062M
M6

1062BF12

9 Nm

M6 x 12

01 145 991 rev.30-03-2015 2

01 145 991 rev.30-03-2015 3 01 145 991 rev.30-03-2015 4

     

S =  80   
H =  OPH   
B =  H-50  
A =  H+640  

B

A

H
S

Manual

01 145 991 rev.30-03-2015 5

     

S =  115   
H =   OPH   
B =  H-0  
A =  H+640              
P =  3500

B

A

H
S

P

E-Operated

01 145 991 rev.30-03-2015 6

Min.95OPW

Check mounting surface! 

01 145 991 rev.30-03-2015 7

10,5 mm

01 145 991 rev.30-03-2015 8

RSCVX..-TS

1088..



01 145 991 rev.30-03-2015 9

OPW       66 mm

01 145 991 rev.30-03-2015 10

01 145 991 rev.30-03-2015 11

L = OPW+127

215V...

OPTION 

915VSX...

OPTION 

OPW
2250
2300
2355
2375
2400
2500
2625
2750
3000

01 145 991 rev.30-03-2015 12

1088...

1062M
M6

1062BF12

9 Nm

M6 x 12

01 145 991 rev.30-03-2015 13 01 145 991 rev.30-03-2015 14

A B

= =

01 145 991 rev.30-03-2015 15

OPTION 

2602

01 145 991 rev.30-03-2015 16



OPTION 
01 145 991 rev.30-03-2015 17

OPTION 

1062M
M6

1062BF

9 Nm

M6 x 16

01 145 991 rev.30-03-2015 18

RTSH....

01 145 991 rev.30-03-2015 19

1062M
M6

1062BF

9 Nm

M6 x 16

01 145 991 rev.30-03-2015 20

870RS

1062M
M6

1062BF12

9 Nm

M6 x 12

01 145 991 rev.30-03-2015 21

215V....

CR2C

OPTION 

01 145 991 rev.30-03-2015 22

OPTION 

01 145 991 rev.30-03-2015 23

2-3 Nm

CR2 OPTION 
01 145 991 rev.30-03-2015 24



1068M
M8

1070BF

23 Nm

M8 x 18

TST2P

01 145 991 rev.30-03-2015 25

ACC

K24....-TS

1 Nm

= =

01 145 991 rev.30-03-2015 26

01 145 991 rev.30-03-2015 27

ALL TYPES
575LHR

581/582CEN

OPTION 

01 145 991 rev.30-03-2015 28

01 145 991 rev.30-03-2015 29 01 145 991 rev.30-03-2015 30

421

01 145 991 rev.30-03-2015 31

m
ax

. 2
m

m

01 145 991 rev.30-03-2015 32



01 145 991 rev.30-03-2015 33 01 145 991 rev.30-03-2015 34

01 145 991 rev.30-03-2015 35

2066-10

01 145 991 rev.30-03-2015 36

1062M
M6

9 Nm

01 145 991 rev.30-03-2015 37 01 145 991 rev.30-03-2015 38

01 145 991 rev.30-03-2015 39

1 Nm
01 145 991 rev.30-03-2015 40



01 145 991 rev.30-03-2015 41 01 145 991 rev.30-03-2015 42

01 145 991 rev.30-03-2015 43

OPTION 

FULL VISION

01 145 991 rev.30-03-2015 44

01 145 991 rev.30-03-2015 45

418S

576

01 145 991 rev.30-03-2015 46

01 145 991 rev.30-03-2015 47 01 145 991 rev.30-03-2015 48

23 Nm



1/2

01 145 991 rev.30-03-2015 49 01 145 991 rev.30-03-2015 50

==

3021S

3022(H)(D)

3022(H)(D)

3021(H)(L)

01 145 991 rev.30-03-2015 51 01 145 991 rev.30-03-2015 52

01 145 991 rev.30-03-2015 53

1068M
M8

1070BF

23 Nm

M8 x 18

01 145 991 rev.30-03-2015 54

01 145 991 rev.30-03-2015 55

K24-....TS

01 145 991 rrev. 303. 0-321 56



01 145 991 rev.30-03-2015 57

TSS...-..

01 145 991 rev.30-03-2015 58

01 145 991 rev.30-03-2015 59 01 145 991 rev.30-03-2015 60

01 145 991 rev.30-03-2015 61 01 145 991 rev.30-03-2015 62

m
in

. 1
0m

m

01 145 991 rev.30-03-2015 63 01 145 991 rev.30-03-2015 64



01 145 991 rev.30-03-2015 65 01 145 991 rev.30-03-2015 66

9 Nm
01 145 991 rev.30-03-2015 67

K24-....TS

01 145 991 rev.30-03-2015 68

Manual

2100S

E-Operated

2100S

OPTION 
01 145 991 rev.30-03-2015 69

639BL-IN

1029D

OPTION 
01 145 991 rev.30-03-2015 70

01 145 991 rev.30-03-2015 71 01 145 991 rev.30-03-2015 72



01 145 991 rev.30-03-2015 73 01 145 991 rev.30-03-2015 74

01 149 993 rev.26-03-2015 1

EPCO 20mm hardware
 

Installation manual

01 149 993 rev.26-03-2015 2

2066-10

574RES

4020S

01 149 993 rev.26-03-2015 3

10
0 

m
m

1054T16
ONLY !

1054T-16
 

10 Nm

01 149 993 rev.26-03-2015 4

4020CZ

1054T16
ONLY !

1054T-16
 

10 Nm

01 149 993 rev.26-03-2015 5

574RES

01 149 993 rev.26-03-2015 6

 2
m

m

4020HZ
1054T16
ONLY !

1054T-16
 

10 Nm



01 149 993 rev.26-03-2015 7

1054T16
ONLY !

1054T-16
 

10 Nm

417S

574RES2066-10 (2x)
2066-5   (1x)

01 149 993 rev.26-03-2015 8

1054T16
ONLY !

1054T-16
 

10 Nm


